SAMAGRA SHIKSHA KERALA m

FIRST TERMINALEVALUATION 2019-20
CHEMISTRY
STD: X Score :40
Time : 1 % Hours

Instructions
. First 15 minutes is given as cool-off time. This time is t0 be spent for
reading the question paper.
. Answer the questions according to the instructions.
. Answer the questions afler considering the score and time.

Answer any 4 questions from 1 to 5. Emhm 1 score. (dx1=4)
1. Which subshell among the fol]owmg has the higbast mgy? _ (1)
(2p, 4s, 3d, 3p)

2. Find the number of gram molecular mass(GMM) present in 56g Nitrogen. (N
[Hint: Mulemllnr mass of nitrogen is 28]

3. Which of the givenl metal reacts vigorously with \ater. e
: ' (Cu.Fe, NajAu)
4. What is the oxidation state of Cu in Cu 0.
[2,+2,+1, -]

=l

[Hint: Oxidation mtaof "Oxygenis -2]
5. Annlyse the situations gxmh:lawmd write the mewhmh is related to
Boyic slaw, by i : ¥ L)
a) If'an inflated balloon is kept in sun]ight,ﬂw:]]bmstaﬁcr sonde. ume -
b) As the'balloon is being inflated, ﬂsvolmm increases.
¢) The size of air bubblesmmgfmmthebottomofa watcrbodymdu&ﬂ}'
increases. : : :
Answermy4questmﬁom6to!0 Bndlmﬁﬂ:?m T (4x2=8)
6. The subshell electronic configuration of an elements givemin two wuys P
(i) 1s* 257 2p° 387 3pe 3(1‘4@?
(ii) 15726%2p*3s73p"3d 48! :
Which among these mhcmﬂ'ectchcummmnﬁgumum" Gm@:mm {z)'
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20.

 The molecular arrangement in solid, liquid and gaseous states are different.

a) On the basis of this, write a short note on gaseous state highlighting the energy
of molecules, distance between molecules, attractive force between molecules
and freedom of movement of molecules, : (2)
b) Some characteristics ofeonmmvmgw molecules are responsible for
maintaining the pressure of a gas. Writ¢ any two televant chmwnst:cs (2)
Atomic number of Manganese is 25,

a) Write the subshell electronic configuration of Manganese. (1)
b) Write the subshell electronic configuration of the positive ion in MnO ;
( The oxidation state of oxygen is -2) (2)

i, ) Give reason for the variable oxidation states of d block clements? (1)
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